1. -/5 peintsBerrFinMath1 4.1.001.
Sketch the system of inequalities.

X+ 2y £20
x=0,y=0

List all vertices, (Order your answers from smallest to largest x, then frem smallest to largest y.)

[dentify the region as "bounded" or "unbounded.”
) bounded

.} unbounded

Heed Haelp?

show My Work {Optional) @
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5/25/2016 Unit 4 Homawark Assignment (4.1, 4.2)

2. -/6 pointsBerrFInMath1 4,1.002,
Sketch the system of inequalities.

—2x +y =12
X 210
xzd,yz0

List all vertices. (Order your answers from smallest to largest x, then from smallest to |argest y.)
(o y) =

]
[
T s
(x; ¥) lﬂ o

T“fx;,:r__)
'\’“ )

Identify the region as "bounded" or "unbounded.”
¢} bounded

i} unbounded

Nagd Halp?

Show My Work (Optional) @



5/25/2018 Unit 4 Homework Assignment (4.1, 4.2)
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3. -/6 pointsBerrFinMathl 4.1.003.
Sketeh the system of inegualities.
X+ 2y 58

xX+y=7
xz0,y=20

List all vertices. (Order your answers from smallest to largest x, then frem smallest to largest v.)

Identify the reglon as "bounded™ or "unbounded.”
.2 bounded

.2 unbounded

Heod Halp?

Show My Work (Optional) @

37



51252016 Unit 4 Homework Assignment (4.1, 4.2}

4, -/4 pointsBerrFinMath1 4.1,005,

Sketeh the system of inequallties, List all vertices and identify the region as "bounded" or "unboundad.”
4x + 3y = 24

yz4
xz0

List all vertices, {Order your answers from smallest to lairgest x, then frem smallest to largest y.)

(x, v} =

)

Identify the region as "bounded" or "unbounded."
.t bounded

13 unbounded

Nasd Halp?

Show My Werk (Optienal) @

A7



5252016 Unit 4 Homework Assignment {4.1, 4.2)

8. /7 pointsBerrFinMath1 4,1,007.

Formutate the situation as a system of inequalities. {Let x reprasent the number of goats the farmer can raise and y represent the number of llamas.}

A rancher raises goats and {lamas on hls 400-acre ranch, Each goat needs 2 acres of land and requires $60 of veterinary care per year, while each
llama needs 5 acres of land and requires $48 of veterinary care per year. If the rancher can afford no more than $7,220 for veterinary care this year,
how many of each animal ¢an he ralse?

T
"
D)

(land requirements)

e

{veterinary care)
xz=0,y=z20

Sketch the feasible region.

Find the vertices. {Order your answers from smallest to largest x, then from smallest to largest y.)

ol
—
| L
)
(x, ¥} = (

57



5/25/2016 Unit 4 Homework Assignment (4.1, 4.2)

9 =

|

)

“Tlk Y 8 Tuler

6. ~/1 peintsBerrFinMathl 4.2.001.
Use the region below to find the maximum value. {If such a value does not exist, enter DNE.)

Maxlmum of P = 6x + 4y

¥

\J

3
0, 209 \u, 20)

N5, 15)

10,10 AN

.. (15,8 N30 ¥

7. -/1 paintsBerrFinMathl 4.2.003.

Use the region below to find the minimum value, {If such a value does not exist, enter DNE.)

Minimum of C=3x+y

0,600

Need Helo?

Show My Work (Opticnal) @

67



5/25/2016 Unit 4 Homewaerk Assignment (4.1, 4.2)

8. ~/1 polntsBerrFinMathl 4,2,005,

Solve the linear programming problem by sketching the region and labeling the vertices, deciding whether a solution exists, and then finding Tt If It does exst.
(If an answer does not exist, enter DNE.)

MaxImize P =20x + 50y

2X +y s 16
Subject to x+y=1i0
xz0 yz0

%, -/1 pointsBerrFinMath1 4,2,008.

Solve the linear programming problem by sketching the region and labeling the vertices, deciding whether a solution exists, and then finding It if it does exist.
(If an answer doas not exist, enter DNE,)

Minimize C = 10x + S0y

2X + 5y 2 20

Subject to {x >0, y20

10.-/1 polntsBerrFinMathi 4,2,008.

Soclve the linear programming proeblem by sketching the region and labeling the vertices, deciding whether a selution exists, and then finding it If it does exist,
(If an answer does not exist, enter DNE.)

Maximize P Bx 4 3y
2%+ y =890
Xx+y=50
X+ 2y <90
xz0 yvz0

Subject to

Maed Help?

Show My Work (Optional) @

11.~/3 pointsBerrFinMath1 4.2.009.

Formulate the situation as a linear pregramming problem by identifying the variables, the objective function, and the constraints. Be sure to state clearly the
meaning of each variable. Determine whether a soluticn exists, and if it does, find it. State your final answer in terms of the original question.

A rancher ralses goats and llamas on his 400-acre ranch, Each goat needs 2 acres of land and requires $100 of veterinary care per year, and each llama needs
5 acres of land and requires $80 of veterinary care par year. The rancher can afferd no more than $13,200 for veterinary care this year. If the expected profit
Is $78 for each goat and $1.17 for each llama, how many of each animal should he raise to obtain the greatest possible profit?

The rancher should raise ::} goats and [:j llamas for a maximum profit of $I:::] .

Heed Help? Eaineids

show My Work (Opticnal) @

K4



1, +/1 peintsBerrFinMathl 2.1.001,

Find the simpie interest on the loan,

$1300 at 6% for 10 years.

Show My Work (Optfonal) @

2. -/1 pointsBarrFinMathl 2.1.003,

Find the total amount due for the simple interest loan.
$1200 at 7% for 10 years.

s 1]

show My Work (Optional) ]

3. -/2 pointsBerrFinMathl 2.2.001.

Determine the amount due on the compound interest lean, (Round your answers to the nearest cent.)
$19,000 at 5% for 15 years if the interest is compounded n the following ways.

(a) annuaily

$

{b) quarterly
$

Show My Work {Optional) @

4. -/1 pointsBerrFinMathl 2.2.005.

Fird the term of the cempound Interest fean. (Round yaur answer to two decimal places.)
4.,9% compounded quarterly to obtaln $8200 from a principal of $2000.

I—

Show My Work (Optional} @

5. -/2 pointsBerrAinMath1 2.2.007.

Usa the "rule of 72" to estimate the doubling time (in years) for the interest rate, and then calculate it exactly. (Round your answers to two decimal places.)

9% compounded annually.

T
exact answer [::::} yr

Show My Wark (Optional) )

6, -/1 pointsBerrFinMath1 2.2.009.

Find the effective rate of the compound interest rate or investment, (Round your answer to two decimal places.)
13% compounded monthly. [Note: This rate Is a typical credit card interest rate, often stated as 1.1% per month.]
1%
Show My Work (Opticnal) @

7. ~/1 pointsBerrFinMathl 2.2.012,

You have just received $175,000 from the estate of a long-lost rich uncle. If you Invest all your inheritance In a tax-free bond fund earning 6.8% compoundad
quarterly, how long do you have to wait to bacomne a millionaire? (Round your answer to twe decimal places.)
yr

Show My Work (Optional) @

19



8, ~/1 pointsBerrFinMathl 2.2.014,

You have just won $140,000 from a lottery. If you invest ail this amount in a tax-free meney market fund earning 8% compounded weekly, how long do you
have to wait to become a millionaire? (Round your answer to two decimal places.)

[ v

Show My Work (Optional) @

9. -/1 pointsBerrFinMath1 2.3.001,

In the following ordinary annuity, the Interest is compounded with each payment, and the payrment |s made at the end of the compounding period.

Find the accumulated amount of the annulty. {Round your answer to the nearest cent.}
34500 annually at 5% for 10 years.
s 1

Show My Work (Optional) 7]

10.-/1 polntsBerrFinMathl 2,3.003.

In the following ordinary annuity, the interest is compounded with each payment, and the payment is mada at the end of the compounding period.

Find the required payment for the sinking fund. (Round your answer to the nearest cent.}
Monthly deposits earning 6% to accumulate $8600 after 10 years.

sL ]

Show My Work (Optlonal) &

11.-/1 pointsBerrFinMathl 2.3.005,

In the following ordinary annulty, the interest is compounded with each payment, and the payment is made at the end of the compounding period.

Find the amount of time neaded for the sinking fund to reach the given accumulated amount. (Round your answer to two decimal places.)

$2500 yearly at 7% to accumulate $1.00,000.
yr

show My Work (Optional) @

12.-/2 pointsBerrFindMathl 2.3.007,
In the following ordinary annuity, the interest is compounded with each payment, and the payment is made at the end of the compounding period.
An individual retirement account, or [RA, earns tax-deferred interest and allows the owner to invest up to $5000 each year. Joe and Jill both will make IRA

deposits for 30 years {from age 35 to 65) into stock mutuzl funds yiekding 9.8%. Joe deposits $5000 once each year, while Jill has $96.15 (which is 5000/52)
withheld from her weekly paycheck and deposited automatically. How much will each have at age 657 (Round your answer to the nearest cent.)

P —
I —

Show My Work (Opticnal) @

13.~/1 pointsBerrFinMathi 2,3.010.
In the following ordinary annuity, the interest is compounded with each payment, and the payment is made at the end of the compounding period,
You and your new spouse each bring home $1600 each month after taxes and other payroll deductions. By living frugally, you Intend to live on just one
paycheck and save the other in @ mutual fund yielding 7.89% compounded monthly, How long will it take to have encugh for & 20% down payment on a

$175,000 condo In the city? (Round your answer to two declmal places.)
yr

Show My Work (Optional) @

2/



14.-/1 pointsBerrFinMathl 2.4.003.

Determine the payment to amortize the debt. (Round your answer to the nearsst cent.}

Monthly payments on $170,000 at 3% for 25 years.
$

Show My Work (Optional} )

15.-/1 pointsBerrFinMathl 2.4.005.

Find the unpaid balance on the debt, (Reund your answer to the nearest cent.)

After 7 years of monthly payments on $180,000 at 5% for 25 years.

s ]

Show My Work (Optional) 7]

16.-/1 peintsBerrFinMathl 3.1.001,

Solve the system by graphing. (Enter your answers as a comma-separated lis
enter DEPENDENT.)

X+y=4
X—-y=2

oo = ( ‘)

t. If the system is Inconsistent, enter INCONSISTENT. If the system is dependent,

Show My Work (Optional) 7]

17.-/1 pointsBerrFinMathl 3.1.003,

Salve the system by the elimination method. (Enter your answers as a comma-separated list. If the system is inconsistent, enter INCONSISTENT. If the

system Is dependent, enter DEPENDENT,)

x+y=1i3
2x + 3y = 31

- ‘)

s

show My Work {Optional} @

18.-/2 peintsBerrFinMathl 3,1.008,

Formulate the situation as a system of two linear equations in two variables. Be sure o state clearl

y the meaning of your x- and y-variablas, Solve the system
by the elimination method. Be sure to state your final answer in terms of the original questicn.

A lawyer has found 60 investors for a limited partnership to purchase an inner-city apartment building, with each contributing either $4,000 or $8,000. If the
partnership raised $336,000, then how many Investors contributed $4,000 and how many contributed $8,0007
X = $4,000 investors

y = $8,000 Investors

show My Work {Optional) @

3/9



19.-/4 pointsBarrfinMathl 3.2.001,

Find the dimension of the matrix.
15
4 6
58

[ x| |

Find the values of the specified alements,

o= ]
asp={ ]

Show My Work {Optional) @

20.-/6 pointsBerrFinMathi 3.2.003.

Find the augmented matrix representing the system of gquations.

X+2y=6¢
7X + 3y = 14

Show My Work (Optional) @

21.-/6 pointsBerrfinMathl 3,2.005.

Carry out the row oparation on the matrix.

8 3
6 5

21
30

Ry ¢* Ry on (

Show My Werk (Optlonal) &

22,-/6 pointsBerrFinMathl 3.2.006,

Carry out the row cperation on the matrix,

6 8| 59
—Ry R
Ri=Ry=Reon (54|54)

Show My Work (Opticnal) @

23.-/6 pointsBerrFinMathi 3.2.007.

Carry out the row operation on the matrix.

1 4 -5
ERz—le on (0 o

—41
40

Show My Work (Optional} @

4/9



24.-/1 pointsBerrfinMathl 3.2.008.

Interpret the augmented matrix as the solution of a system of equations. (Enter your answers as a comma-separated [Ist. If the system ls inconsistent, enter
INCONSISTENT. If the system Is dependent, enter DEPENDENT.)

(2] )

(X, v} = Et
(G

sShow My Work {Optional} @

25,-/2 pointsBerrFinMathl 3,2,015.

Express the situation as a system of two equations in two variables, Be sure to state clearly the meaning of your x-
reducing the corresponding augmented matrix. State your final answer in terms of the original question,

For the final days before the election, the campaign manager has a total of $33,000 to spend on TV and radic campaign advertisements. Each TV ad costs

and y-varlahles. Solve the system by row-

$3000 and is seen by 10,000 voters, while sach radio ad costs $500 and is heard by 2000 voters. Ignoring repeated exposures to the same votar, how many TV

and radio ads will contact 120,009 voters using the allocated funds?

X o= TV ads
y = radio ads

Show My Work (Opticnal) 7

26,-/12 pointsBerrFinMath1 3,3.001,

Find the augmented matrix representing the system of equations,

Xy +xz+x3=2
X1+ 3%+t x3=4
X{+ 2xx +4x3 =2

Show My Work (Optional) 7]

27.-/1 pointsBerrFinMathl 3,3,003.

Interpret the row-reduced matrix as the solution of a system of equaticns. (Enter your answers as a comma-separated list. If the system is incorsistent,
answer INCONSISTENT, If the systam is dependent, parametrize the solutions in terms of the parameter £.)

1 00 2

D19 G

0 ¢ 1 -3

er, 22 %) =
 X3) =

Y

T )

e ey
<

L ooy

|
i
|
L

show My Work (Optional) @
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28.-/12 polntsBerrFinMathl 3.3.007.

Use an appropriate row operation or sequence of row operatlons to find the equivalent row-reduced matrix.
1L 01 5
ag10 8
001|7

show My Wark (Optional) @

29,-/9 pointsBerrFinMathl 3,4.002,

Use the given matrix to find the expression,

3C=

30,-/9 paintsBerrFinMath1 3.4.004,

Use the given matrices ta find the expression.

1
3 A+C
7

A+C=

show My Work (Optional) @

31.~/2 pointsBerrFinMathl 3.4.007.
Find the matrix product.

43 1% _i
122

5

Show My Work (Optional) @&

6/9



32,-/15 pointsBerrFinMathl 3.4.009,
Rewrite the system cf linear equations 2s a matrix equation AX = B.

X1+ 2%+ 5x3 =6
X1+ xy+x3=1
6x1 + 2%y + 3x3 =8

show My work (Optional) o)

T 7/9



33.-/7 pointsBerrFinMathl 4,1,008.

Formulate the situation as a system of inequalities. (Let x represent the number of dinghies the company can manufacture and vy represent the number of
rowboats.)

A boat company manufactures aluminum dinghies and rowboats, The hours of metal work and painting needed for each are shown in the table,
tagether with the hours of skilled |abor availahle for each task. How many of each kind of boat can the company manufacture?

(hours) Dinghy Rowboat Labor Available
Matal Work 2 3 114
Painting 2 2 100

(Iagar for painting)
xz0,y2z0

Sketch the feasible region.

Find the vertices. {Order your answers from smallest to largest x, then from smallest to largest y.)

(o ¥) = ( |
JE—
SE——

8%



A4.-/1 pointsBerrFinMathl 4.2.006,
Salve the linear programming preblem by sketching the region and labeling the vertices, deciding whether a soluticn exists, and then finding it if it does axist.
(If an answer does not exist, enter DNE.)

Minimize C = 10x + 50y

2% + Sy = 20

Subject to {x >0, yz 0

Show My Work (Opticnal) 7
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